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1,B->C 1,C->A
3,A>B 3,B->C
1,C>A 1,A->B
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* Alternate moves between the smallest disk and a non-smallest disk.

« For the smallest: always move to the right (# of pieces is even), rotate if
necessary; always move to the left (# of pieces is odd), rotate if
necessary

« For the non-smallest: there is only one possible legal move.
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Alternate moves between the smallest disk and a non-smallest disk.

For the smallest: always move to the right (# of pieces is even), rotate if
necessary; always move to the left (# of pieces is odd), rotate if necessary

For the non-smallest: there is only one possible legal move.
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while (the number of disks on peg C are less than n)

{
® move smallest disk rightward (n is even) / leftward (n is odd) one peg
@ move smaller disk other than the smallest to the remaining peg

}
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int peg[3][MAXDISKS]; while (nDlskPeg[Z] < nDisks) {
int nDiskPeg[3]; targetSPeg = (curSPeg+dir+3)%3;
int curSPeg = 0, targetSPeg; @ { peg[targetSPeg][nDiskPeg[targetSPeg]++] =

int dir = 1 - nDisks % 2 * 2: peg[curSPeg][--nDiskPeg[curSPed]];
curSPeg = targetSPeg;
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srcPeg A1 11&24=~" trgtPeg > 1™ :
int srcPeg, trgtPeg;
if (curSPeg == 0)
if (peg[1][nDiskPeg[1]-1] < peg[2][nDiskPeg[2]-1])
srcPeg = 1, trgtPeg = 2;
else
srcPeg = 2, trgtPeg = 1;
else if (curSPeg == 1)

els'é. if (curSPeg == 2)

pe'él[trgtPeg][nDiskPeg[trgtPeg]++] = peg[srcPeg][--nDiskPeg[srcPeq]];
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if (curSPeg == 0)
if (nDiskPeg[2] == 0) || (peg[1][nDiskPeg[1]-1] < peg[2][nDiskPeg[2]-1]))
srcPeg = 1, trgtPeg = 2;
else
srcPeg = 2, trgtPeg = 1,
else .
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[E”Q FRUEESTRYEL srcPeg i (curSPeg == 0)
if (peg[1][nDiskPeg[1]] < peg[2][nDiskPeg|[2]])

int peg[3][MAXDISKS+1]; srcPeg = 1, trgtPeg = 2;

peg[0][0] = peg[1][0] = peg[2][0] = 99; else
srcPeg = 2, trgtPeg = 1,

else ... 9
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int pegO[3][MAXDISKS+1]; if (curSPeg == 0)
int (*peg)[MAXDISKS+1] = if (peg[1][nDiskPeg[1]-1] < peg[2][nDiskPeg[2]-1])
(int (*)[MAXDISKS+1]) &pegO[0][1]; srcPeg = 1, trgtPeg = 2;
peg[0][-1] = peg[1][-1] = peg([2][-1] = 99; else
srcPeg = 2, trgtPeg = 1,
else ...
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int table[3][2] = {{1,2}, {0,2}, {0,1}};
j = peg[table[curSPeg][0]][nDiskPeg[table[curSPeg][0]]-1] >
peg[table[curSPeg][1]][nDiskPeg[table[curSPeg][1]]-1];

srcPeg = j==1 ? table[curSPeg][1] : table[curSPeg][0];
trgtPeg = j==1 ? table[curSPeg][0] : table[curSPeg][1];
AL
if (j==1)
srcPeg = table[curSPeg][1], trgtPeg = table[curSPeg][0];
else
srcPeg = table[curSPeg][0], trgtPeg = table[curSPeg][1];
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0 0 1,2
0 1 2, 1)
1 0 (0, 2)
1 1 (2,0)
2 0 (0, 1)
2 1 (1,0)

int table[3][2][2] = {{1,2},{2,1},{0,2},{2,0},{0,1},{1,0}};

j = peg[table[curSPeg][0][0]][nDiskPeg[table[curSPeg][0][0]]-1] >
pegl[table[curSPeg][0][1]][nDiskPeg[table[curSPeg][O][1]]-1];

srcPeg = table[curSPeg][j][0], trgtPeg = table[curSPeg][j][1];
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